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+� ��0102�3���� ��� ��� ����3�����4� ���� ���5����� ��� �3�"���4� �� ����� �
6�����7� 8�6��� ���"���4 �7���� � �� ��� ���������"� ��������� ��� ��� �3����� ��� �
9����� ������: ���� ��7�������� ��� ���� ���� �� ���;���� ����3� ��� ��� �8��� ���7�� <
����� ���� �"�=�� ��� �����4 ��� �����������4� ��� ���� ������������ ��������2 �=�� �
���"���� ����������� �� ���� ����3����"���: �+��3��������� �>�� ����� �+��?@���@�
+� ������ ������4 �=�� ��� �"�=�� ������ ���� �� 7��� �8�=��2 ������ ��� ��� � �����2 �
����� ����������� �� �	 ��� �8��� ����3�����4� ���������� ����A�3�� �������: ���� ��7� <
������� ������������ �� ���� ������������ ����������� ���;������� �� � ��������� ���� <
�� �3��A����B��� �C��@�������� ���73������ �������4 �=�� ��� � �"�� ������������ ���� �
����������� ��������2 �� ��� ������� ��� ��� ���3��?� �8�3�� ��� ��� ��� �"���� ����� �7� <
��2 ��� ���5����� � �"A� �3������ ��� �������� ��� �"�=�� ��� �;����� �82�3�� ������2 �
��� A� �C���������4� �3��� �������� ��� ���� � �� �� ������������: ��� �	���� �D� 3�� <
7� ���;������ ��������4 ��� ������;� ��� ���� �7��7"��� ��� ��� ����3� ����4� ���"�� �
��� �=�� �3���"� ��� ��� ��� ���� ��� ��� ��E �������4�2 ����=�� ��A�3�����A� ��� ������� <
��4� ���� �"�=�� �8��� ���� �"����� � �"���� �� �"����: �

��D� "�� ��� �� ��� ��� � �3���� ������������ �� �>� � 
F� �G�


��2 �>��� ����H �� ������� ��� ����		
 �
��� ��� �

�	���� �����	�
����
� ��+��� ����� ������2 �/�����2 ��1��2 �3?;�: ���I���J:

>�� ����� ������� ��� �=�� �7� ����74 �� ��������� �����C�� ��� �3���� ��� ���@��� ���� �
������� ���� �� "� �� ��� � ���� ��4��� ����;� ��� �C���������4� ��� ���� �+�� ���� ������ �
�� ��� ����������� ������������2 ��;��� �C������������ ��� �8���3���� ��K��� �8��� ���� �
��7� ��� ����� �=�� ��� ���;!� ����� ������� �=�� ����3��� �3�� ��������� �8�3�?� ����� �
������ ������ ����2 ���������7���� ��� ���� ������ ��� ���� �"�=��� �8���������� �
�E����C���� ��� ��� �����������2 ��� ����73�� ��� �3�@2�8����� ���� ������ ���A����� ��� �
��� �=��2 ��� ���� �� ����� ����7�2 ��� ���� ��73������� �"�=��� �8����������2 �3���� <
� � 7���� ��� ��� �7�7���� ���� ������ � �������������� ��� ��� �=�� ������3��� �
��7� �C���������4� �� ���7������ �3������ ��� ��� ��� �������4� �8��� ��� �=�� ��� �
3�?����� �������������� ����? ������ ��� ����������� ���� ��� ��� �7����� ��� ������ <
3����:
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�� ���������4� ������ �"�=�� ��� �+����� �8���� ���7�������� ������� ��� ��� ���� �=�� �
��� �7��7� ��� � ���: �� �3��34���� ��� ����� ���������4� �������A� �8� �>��
F� �=��H

6+� ��� �	������� ��� �9������� ��� ��1�J ���"�� ��� ���7������ ��� ���� �"�=��� ��� �
+�����2 ��� ��� ����� ��� ����3��2 �3��� ��� ��3������4�2 ��� ������7� ��� �������� ��� �
�������� �=�� ������!�� ���� �"�=��� �82������7����2 ����� �7��7� ��������� ��� ��� �
=�� � � ���;���� ��� �
�������� ��� ������ � �
������������ ��� ���� ��������� ��� �
+������7� ��� ��1�02 �=��2 ��� ����73�� ��� �3�@2������� ���� �"�=��� ��� ���� �
;������ �����;��A��H �
 � 2���� �"�=��� �=�� ������!�� ��� ��������� �;�"����7�� <
��� �8��� ���7������B ���2 ���� �"�=��� �=�� ������!�� ��� ��������� ��� ���7�����: ��� �
3��7��� �����;��A� ��� ���"������ ��� �"�=��� �7�������� �8�"�=��� ��73������ �
�� ��� ��������� �3!"���� ������B��� ���;���� ���73����� ���� �"�=��� ��� �3��3�� <
��� ��� �3�����������2 �� ��� �3��3����� ���� �+�����2 �� ��������� �� ���=������� �
3�� �K���6: �

� �
"A��72 �3?;�: ��J��M:
� ���� � �� �� ��"C��� ��� ��� ������ ������ ������ ��� ��� ������;� �3��� ��� �����������4� ���� �"�=�� ��� �
;����� �6N�� �� ; 6��� ���� ��� �������� �	��73 ��� �>���������: �+�� �� ���� ���?������ ���� ��������� ��� ����� ������4� �
�� ��� ��"���A� �=��2 ����=�� ��� �"�=�� ��� ���������� ����7�����2 ��� �;�"����� ����� ��� ����� � ��"� ��� �
����� � �3��� ��@����� �3�"���4� ��� �����=���� �7�7���� �8������� ���� ����3�����4� �=�� ��� � ������ �
���;� ��� ��� �����: ��� �"������� ��� ������@4 ��� ��011 �8��� ��5� �� �;������ ��� ���3��?� ��� ��� �/����� ����� �
8��� �;��3� ��� �7�������� ������� ���� ������� ��� ������A� ��� ����7����� �6N�� �� ; 6:�+��3��"��7� ����;�4 �
������ ��� �7������� ����� ��4�8���� ������������ ������ �� �� �������� ��� ������;�B ��� �7������� �����4 ��� �
�� � ��� ����� ��� �
��"���� �D� 3��7�2 �=�� ����"4 ����� �������� �������7� �� ������ � ��� ��E�������4� �
�� �������� ��� ����������� �=�� �� ������ ���� �������� ��� �"�=�� ��� �����������4� ���� ��� �"�=�� ��� �+ � �� � � �
8��� �7������A� �����"� �� � 7����� �� ���� ���8�� ������:
O�� P �D++��2 �	H�
�	���� �����	�
����
� ��������� �N������4�: �N����4� ��� 3�5��� ��� �>��� ���� �G�7K��@ �
����;���: �9 ��� �����2 ��1JJ2 �3?;: ����:

���� ������7���� ��� �7�7���� ��� ��� �=�� ��� �"�=�� ���=����� ��� ���������� <
��4� ��� �"�=�� ��� �+����� ��� ��� ����������� ��� ��������� ���� ������;� �7�������� �
=�� ��� �3������� � �;� �� ��� ���������� ��� ��� ������������� �� �����: ������ ��1�� �
�� �
��"���� �D�3��7� �������7������� L�Q��������� �=�� ��� ������ ��� �7�7���� �
�� ��� �"�������2 ����=�� ��� �7�C�� �8�7?� ������������ ��������� ��������� �� ��� �
"�=�� ��� �;����� ������ ��� �7�7���� �=�� ����7� �3���� ��� ��� �/����� �7������ �
��� �+�D���2 ��� �7������ �3�� ��� �������� ���� ��������� ������� ��� ��� �/�����2 ������ �
��� �������4� ���73����� �3�� �7��7"��� ��� ��� �7����� ��� �;����� �8����? ��� <
����@��� �3��� �����"���� ��� �3�"���4� ��� �;����� �8��� �"������ ��� ���7"���R

S�8 ��� �������4� ����? ������ ������ ��� �������� ��� ���;�� ��� ��� �


�	���������� �
�� ������ � ���� �/��2 ��� �����"������� ��� ��� ����������� �=�� �"�=�� ��� �;����� �
��H
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	� ��� �� ���� �� �� ����� ����������� ���� ����� ��� ���

6
��� �"�=�� �3������������ �� ���� �����@�� ���7���� ��� ��� �+�D��� �=�� ������ �
��� ���;��� ��E�������� ������������ ��� ���� �"�=��� ��� �;����� ��� ��� ���������� <
���2 �=�� ��� ���������� �"�C� ��� �7���� ��� ��� �������� ���"���7���� �����;�� <
�� �3�� ��� �;�"����� ��� ���� �+����� ���8� ���7"�� ��3���@�� ��� ��� �������3�� <
������ ��������4� ��� ���������� �� ��� ��=���������2 ���8� �������4� ����K ���7����� �
� ��� ������3���� ��� ���� ���8�� ��� ���� �����@�� ���7����6: I

I � 	�������4� �� � "�� ��� ������ � ���� �/��2 ��� ��� ��� ������7"�� ��� ��10�: �+�� ���� �;������ ��� ���;�� �
�� ��J ��� ������7"�� ��� ��11�: �9����A� �P������ ���� �+�� � � � �T�� ��� ������ ��� �9P+U��6 �L12��� ��� ��� �
��"���� ��� � � �11M:
J� P���� ��IR�10I ���� �/��������� ��� �������� ��� ��L ��� ��"���2 �3�� ��� �=�� ��� ��3���"�� ���� ����7�� �
3�� ���� �������� ��� �"�=��� ��� �;����� ��E����C���� ��� �3������ �� ������������ ���3�5���� �8��� �3��� �
3�� ��� �7�� ������������ ���3�5�� ��� ����73�� ��� �3�@2�3�"������ ��� �9 � ���A� �P������ ���� �+� � �� � ��� ��� �I2�
�� ����I��10I:
M� ���� ��� ����A���� � ���� ��� �P���� ��IR�10I �=�K ��� ���������2 �� ���� �������� ��� ���� � ������2 �3�� �
"�=�� ��� �;�����H ��U���� �"�=��� ��� ���7"��� �8���E������� �3���������� ��� �� ��� �7����� ��� �;����� ��� �
�� �+� � �� � �=�� ��� ������ ���� ���;��� �������� ���� ��� ���� �"�=��� ��� �;����� ��� ��� �������������: �D� �
��7������� ���"� ��� ��� ��� ��� � � ���� ���� �+� �� � � �8��� ���7"�� ���"� ���;���� ��� ��� ���� �� ��4� ��� ������� ��� �
�� ��� ���7��� �� ��� ��=���������: �D� �������4� ��� ���? �� � 7����� �� ��� ������3���� ������ �7������B �"U���� �
"�=��� �3���������� ��� �� ��� �+� � � �� �� ��E3������� �3�� �K��8���� ������� ��E�������7���� �� ��� �� �� ����� �
������� ��� ������3���� ��� ����3�� �� �7������� ��� �;�����2 �=�� ���8�� ��� �7���� ��� ��� �������� ���8� �
��7"�� ���;��� ��� ��� ��� � � ���4� ��� ���������� ��� ��� ���7���B ��U���� ��� ���� �=���� ������ �=�� ������3����� �
� ��� ����� ��� �+ � ���� �8�� ��� �� K=����2 ���� ��E�����4� ��� ����� �3���C�2 ��� ������� �������� �3�����7���� �
�������� �3�� ��A� ���3��7?����B ��U�+E��3� ��� � �7����2 �8�3�� ������ ��E3����2 ���� �"�=����������� ��� �
�� �7����� �7������� �=�� ���3����� ���� �;�"����� ���� 3� �� ��� �8��� �K� �7������� �3�� ��� ��� ���� ��� ��� �
��7���2 ���8� ���7"�� ���"� ���;���� ��� ��� ��� ��� ��4� ��� ���������� ��� ��� ���7��� ���� �3�A� ���� �3�"���4� �
8����73�� �=�� ���� �� �"�=��� ��� ��� �����=��� ��� ���7��� ��6:
0� �P�DD+��2 �	 �����H �
�	������� ��3: ����2�3:���I:

���=�� ��� �	���������� ��� ��� �3�������� ���"�� ��� ��������4� ��� ������ �"�=��� �
�� �+����� �T���� ��� ����7� ���������� ����3���� ��� ��� ���7������ �=�� ���� ��7 <
3��� ��� ��� ����: �1I ��� ��� �


�	����������U �=�� ����?� ����������� �� ���������� ��� �
3����A� ������� �� ��� ����� ���3� �T��7� ��� ��� ����� ��� ���� �3���������� ��� ��� �G������ �
	���� �8���� �D������� ��� �N�;������� ��������� ��� ��� ����� ���3�5��U2 ��� ������ �=�� �
;�@��?� ���� �7��7� ��������� �=�� ���� ��� ��� �/����� ��� �;����� ������� �� ������ �
"�=��� �=�� ���� ������� ��� �3��3����� ��������2 ������� ���� ���������@� ������ <
7���� �7�������2 �3�� ��� �=�� ��� �3����� ���� �������������� ��� ���� ���7����� <
��� �8�C���������4� ��� ���� �"�=��� ��� �;����� �8����7������2

D�� �3��C����� ��� ��� �������� �2 ��� �P���� ��IR�10I ���� �/��������� ��� ������ <
�� J������7���2 ��� ���� ����7� �7�� � �7?� �3������2 �=�K ��� ��������� �3�� �
"�=�� ��� �;����� �� ���� �������� ���� ������ � ���3�5��2 M�0��� ������ �=�� �3����
�����7���� ��� ������������� ��� ���� �"�=��� �7��������2 ���;������ � � �
��������H �

6/������� ��� ��E �"���4� ��� ���� �����7����� ��� �� �"����2 �� �6������ ��� �
7��62 ���8� ��!7��� �8���������@� ���3����� ��� ��� ���;��7������4� ��� ����� �
+�����:::6V

LIL
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#�� �
�����
� �	
 �����	� �� �
��
�
���
�

+���K;�7�� ��� ��� �����;���4� ��K��� �������������� ��� ����7��4 �� ���7���@�� �
��� ���;�� �WW�3�� �3���� ��� ��� ��������� �����7����������� ������ ��� �7��7� ��� <
7���@� ���� �������� ��� ��� �������4� �8���� �3�������� �=�� ����A� ����� �7���� ��� �
�����3����: ���� ���7������2 �7�� �� ��� ���� �3�����3��� ��� ���������"�� ��� ���� �
���������������� ��� ��� �����;���4� �3�� �7��2 ��� ����� ���� ��� ������� ����7� ��� �
�����2 �8� �=�� �����������"A� ��� �����;���4� ��K��� �� ����� ������������ �=�� ��� �
���� ���7������ �� ���� ���� �7��:

+�� � �L��� �����"�� ��� ��1�1 ��� ����7�"� ��� ����A� ��� �3��7�� ��������� �������� <
������ ���"�� ��� �����;���4� ��K���2 ��� ��� �=�� ��� �����"���A� �=�� ������ ���� �
��������� ���"A�� ������ ���� ������������� 1�Q�3��� �=�� ������ ��� �+����� ��� ��� �
7���A���� ��� �=�� ���3�������� ���� ����������� ���7������������ �T��������U �� ��� �
��;������ ��� ��� ���������2 ����=�� ���"���7�� ���3���� ��� �	������� ��� �
	 ���;� ��� ��1��2 ��� �M��� ������7"��2 �3��� ������������� ���� ���� �7���� <
��� ������7����� ���� ������ � ��K���2 ��3����"�� ��E�������7���� �� ���� �
��������� ��� ���������@� ������ �� �3������:

X�
"A��7 �����: �I �8���;:
Y����8 ��� ��� ��� �C������� �
1J�2�� 6��0:�J� ��� ��� ��������� ���� �+�����: �9P+ ��� ��L ��� �C������� ��1J�2 �
7��������� �3�� ���8 ���LR�1J12 ��� �L� ��� ������7"�� ��� ��� �C������� ���� �+�����2 �3�"������ ��� �9P+ �
�Y�L� �L2��� �L� ��� ������7"�� ��� ��1J1:
6����: ��L ���8 ��0:�J�:
�� � 
"���72 ����: ���:
�L � 
"���72 ����: ��I:
�� � 	��: ����� �������� ��Y��M�1R�11J2��� ��� ��� �C����2�3�� ��� �=�� ��� �7������� ��� ���;��7���� ���� �
��;����� ��� �7���A���� ��� ����������2 ��3��"��� �3�� ��� �������� ��� �JR�1J12��� �� �L��� �7��@�2 �3�"������ �
�� ��� �9P+ �� Z��0M2��� �L��� ��;���� ��� ��11J:

D�;������ ��� ���������4� �����"������ �3�� ��� ���8 ��� �����;���4� ��K���2 [ ���� �
���������2 �� ���� �������� ��� ��� ���82��� �������;��� ��� �3������� �8��� �+�����2 �� �����L����
��������?����� ��� �+����� ���� ���������� �7����\��\�\�2 ��� ������2 ���� �=�� ����;�� �
��7� �7���4� ��� �������� ��������� �� ����K� �7������� �3�� ��� �7������ ���7���� <
���� ��� ������� �8���� ��� �7�������� ����������� ��E�������7���� �� ���������� ����� <
����� ��� ���7��������2�� �8���� �3�������2 ������ ���� ���7?� ���������� ��� �������� �
3�� ���� ���� �3����������� �����������R L

� ���� �������� ��� ��� ���;������4� ���3�5���2 ������ ������ ���������� �3������� ��� <
"�� �������;����� ��=������ �=�� ���� ���=������� ��� ��K;�7�� ��� �3��3�����2 ��� �
��8� ����� ��� �7���A���� �8��� �3��3����� ������� ����?���� �3��7������2 �8��=�� <
���� ���������� ���=������� �3�� �7���� ��� ������ ��A����� �=�� �����"�8�� ��� ����� <
��� ��E�������7���� ��� �3�����4�2 �� ���� ������� ��� ���� �����A� ��� �7���A���� ��E��� <
����7���� ���� ����?���� ���73����:��
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D�����������7�� ��� �"�=�� ��� �;����� ��� ��� ���������������2 ����? ��� �C������� <
��4� ���� �3�"���4� ��� ���73������\ �3��� ���;���� �����=���� �������4� �=�� ��� �
3����@�� �� �"���� ��� ��� �����2 ���7� �3����� ���� ���� ����������� ��� ������3���� �
� ��� ���3����4� ��� ���� ��������2 �3������� �����"������� ����� �3���"��� ��������� <
��� ��� �������� ���� ��� ��"�����4� ���3����� ���� �"�=��H

�U� ]�� ��� ���������� ��� ��;��� �C��������������� ��� ��� �3��3�� �3�"���4�: �+��� �
��3����� ��� �3������� ���3������� �������������2 �8� �=�� ��������? ��� ���� � � <
� �� ��� �C���������4� ���73������ ���� �3�"���4� ���� �"�=��:

"U� ]�� ��� ���������� ��� ����� �7��: �+��� ���3����� ��� ��������� ��� �


�	������� <
��� ��� ���� ����A����� �1I �8�1J2�����"�������� �=�� ������ ���� �"�=��� ��� �;����� �
��7� ���� ��� �+�����2 �� �=�� �K��� ���� ����7��� �� �K�2��� ������2 �"�=��� ��E3������� �
3�� ��� �+����� �� ��� ��������� �������� ��� ���7������2 �;�@�� ��� ���7������ ��� �
C���������4� ����3���� ��� �����=���� ����� �+�����2 �3�� ��� �=��2 ��� ����D��� ���� <
������2 ��� ���73������� �3��� �������� ��� ���� ���A����� �=�� ��� ���7���� �� �"���� �
���? ��� ���� �3�"���4�V J

�U� ]�� ��� ���������� ��� ��;��� �C��������������� ���������� �� ��� ��� ��� �3�"���4�: �
���� ���� ��3��E�7���4� ��������� ��� ���7� ��� ��� �C���������4� ���73������ ��� �
��� �"�=��� ��� �+����� ������� ��� ����������� ��� ��;��� �=�� ��� ����� ����7� �
���?� �"�C� ��� �C���������4� ��� ��� �+����� ��������� ���� ��"������7����� ���� �
"�=�� ��� �+�����2 ���"�7�� �������;��� ���������� ���3������2 ���� ������� ��� �
�"����� ��� ���� ��3A;����� ���;�������:

#��  ���
� �	
 �����	� ������	�� �
� ������ ����
����
� �� ���
��� �
!����%
��

+�������� ��� �"�=��� ��� �;����� �� �3������ ��� ��� �+����� ��E����C��� �� �� ����

�̂���: �12���;�� �=����� ��� ��� ��:P: ��R� �1012��� �� �L��� ��"���2 �� � ������ �/������2 �3�"������ ��� �9P+ ��6 �1�2�
�� �0��� ��"��� ��� ��1012��� ��"����H �6�� ���73������� �3��� �������� ��� ���� �������� �� ������� �3������ �
��7������ �� �"���� ��� �"�=�� �7������ �� ��� ��������� �7������ �������3�����? ��� �4�;��� �C������� �7������ �
�� ��� ���7������4� �� ����������� �� �=�� �3������@�� ��� ��CK� ���� �� ������� ���;?���� ��� ��� �=�� ���3���� �
�� �"�=�� �� ���������::: �D���� ������� ��� ���7������ �� �"���� ��� �"�=�� �� ��������� ��� ��� ��E����C���2 �
���? ���73������ �3��� ��� �������7����� ��� �4�;��� �C������� �7������ ���� ����� ��� �/�� ���6:
�J �


�	���������� ���� ������ � ���� �/��2 ����: �1IH�6
�7������ ��� ���� �"�=��� ��� �;����� ��� ����� �7��: �
��� �"�=��� ��� �;����� ��� ����� �7�� �;�@��?� ��� ���73���� ���7������ ��� �C���������4� ���� 3� �� � ��� �
����=���� �+� � �� � �=�� ��� ���� ���� ��� ��� ��� �3�"���4�6:

���	���������� ���� ������ � ���� �/��2 ����: �1JH�6
�7������ ��� ���� �"�=��� ������@���� �!����7���� �
3��� ��� �� ��� ���� �������� ��� ���7������: ���� �"�=��� �3������������� �� ��� �+� � �� � �� ��E3������� �3�� �K��
8����� �@���� �!����7���� �3��� ��� �� ��� ���� �������� ��� ���7������ ������?�2 ������� ��� �K� ��� ����� �7��2 �
��73���� ���7������ ��� �C���������4� ���� 3�� �� ��� �����=���� �+ � � �� � �=�� ��� ���� ��� ��� ��� �3�"� ��4�6: �
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�;��� �������� � ��2 ����? ���C��� �� �������@���4�2 ��� ����� ��� ����7����� ��A� ���3�� <
7?���� �8��� ��������4� ���3��� ��� ���7������ ��� �C���������4� �3�� ���� � �� �� �
��7������ �� �"���� ��� ���� �� �"�=���2 ������� ���73������2 �3��� �������� �
�� ���� �7��7��2 ��� ���� �3�"���4� ���� �"�=��: � �>� � 
F�2 ��� ��������� ��� ���73� <
������ ��� ��� �C���������4� ���� �3�"���4� �3�� ���� ���A� ���� ���7������ �� �"����2 �
7���@� �=�� ���� ������������ ���� �3����� �3���� ����������� ��� ���� � �� �� ���7� <
����� �� �"���� ���� ��� ��E���7� �;�������2 ����=�� �3��� ����� ���� ���������� �
=�� ��� ���7������� ���� �"�=�� �� � ������ ���� � ���E����2 ��� ��������� ����� �3�� �� <
�� ���� ���� ���� � �������� ���� �
�� ������ ��� ������ � �
������������2 ��� ���� �=�� �
�� ��� ����A���� ��� ��� ��"��� A� �=�� ���� ���A7���� �8�������� ���7������ �� �"���� �
�� �"�=��� �7��� �� � �� ��� ���� ����� ��� ��C������� ��� ��� ���73������� ��� ���� ����"� <
����� ���� �+� � �� � ���� �3�����2 �����=����� �=�� ���� ��� ���� ��������� ��� ���� ��A� ��<
7�� �� ��� ���� ��������: �D�� ��7"��;�2 ��� ��� ���7������� ������;� ��� �3������� �
����������� �� ��� ��� ������� ������������2 �K��� �����"�� ��� ��C������� ��� ��� ���7 <
3�������: �0

YM�	��: ��� ��� �� �� ��� ��� �� +/ 
�P �_�P
�PDH �
�	���� �����	�
����
�� �3?;: �I10:
>� � 
F� �	�


`�2 �>��� ����H ��� ������ ��� ����		
���� ���� ����� �3?;�: ���I���J:

�̂	������� ��� �� ��� ������7"�� ��� ��100 ������ ��� �� �� �� ��� �+�3 �5� �8���� �+� ����� ������� ��� ��7K���� �
��"�� ����3�����4� �3��� ��� ��������2 ����C�� �8����C X�� ��� ������ ����C�� ��� �7��7�2 � �� �� ��� �/����� �
8�3�"������� ��� �9P+ ��Y���02 ��� �J��� �7�8� ��� ��1012��� ��� 3�����2 ����C� �


2����A���� �W:

+� ��� ����� ���3�5��2 ��� �����"��� �� �3����� ��� �"�=��� ��E����C���� ����? ���;��� <
�� �3�� ��� ��� ������7���� ������� �P���� ��IR�10I ���� �/��������� ��� ��������2 �
�� ��� �=�� ��� ��� ��"���� �=�� ��� �����"��� �� �3����� �� ����������� ���3�5�� ��� ��� �
"�=�� ��� �;����� ��E����C��� �T�� ����73� ��� �3�@U�3���� ���� ���� �������2 ���� <
���� �� ��� ��������2 �����3��������7���� ��� ��� �����2 ��E���� ���� ���7������ ��� �
C���������4� ���"�� ���� ���A����� ���7������ �� �"���� ���� �"�=��: �D���� �K��� ��� �
3������ ���������������� ���� ������ � �
������������2 ��� �3�?����� ����������� <
��� ������������� ����A� �������7����: �
�7���� ���7� ����������� ��� �������� �
3��� ��� ����3�����4� �3��� ��� �������� �8���� ����C�� ����������� ������ ��� �� �� �� �
�� �+�3 �5� �8���� �+��� ��� ������� ��� ��7K���� R1���� ���7���� �=�� ��� ���� �3��<
7���� �7���� ���� ������ �7������ ����? �� ����� �� � 7� ���� �� ��� ����� ��� ���� �� � �<
��� �3��� ��� �������4�2 ��� ��� ���3����� ��� �=�� ��� �7��7"�� ��� ���� ����3�����4� �
��7������ ��� ������� �� �"���� ��� ��� �"�=��2 ��� ����� �K��� ��� ��;��� �������� � �� �
�� ��� ����� �� �� ��2��� �3���? ��C����� �C���������4� �3�� �3���� ��� ���� ������������ �
��� �+��� �� ��� ����;���2 ��� ���� ������ �� �;���� ���H

�U� 	����� ��� ������� ����;� ������������� �3��� ��� �+� � � �� ��� ����;���:

"U� 	����� ��� ������� ���� ��� ���� ���������@� �=�� �3���� �3�����"�� ��� �3�@�� ��� �
����� ��� ���� � �+� � �� �:

�U� 	����� ��� ������� ���� ���7����� ������� ���� �3������ �=�� ��� ���� �7��7"�� �
�� ��� ����3�����4� ��� ���� �"�=�� ��� ��� �����=���� ����� ��� ��� �7��7� �"������:

LIJ
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	� ��� �� ���� � ��� ����� ����������� ���� ���� ���� ���

�U� 	����� ���� �������� �� �3� � � ��� ���3 � ���4� �� � ����?���� ���A�� �� ��� �����3��� <
������� �� ��� ����������� �� �����4 3��� �

�� �7��7�2 �3��� ��� ����� ���3�5��2 ���"��?� �������� �7�8 �3�������� ������ ���7 <
3��7 ���� ������������� ��� ��� � 7���� �3�� ��� ������ ��� �+�3 �5�2 ��� ���� �=�� ��� �
�� ��"��@��� ���;��� ���3������� ��� ���7������ ������ �8�3����2 ����� ���A����� ��� <
7������ �3�� �����@�� �7��� �� � �� ��E����C� � �� ��� ����������� ��� ����� �+ � � � ��2 ���7� �
������ ���� ���;���� ���73��7 ���� ��� � 7���� ��� ��� �7���� ��� ��� �P
�� � � �� ��� �
�� ����7��� ��� � �����4� �3��� ��� �� �@R�


;��� ������� ��� ���� ���3������ ��� �������� ��� �C���������4� ������: �	��� ��� ���� <
3���� �>� � 
F�H

6:::���� ���������� ��� ��� �	���� ��� ��3�����4� ��� �D��� ��;� ��� �	 ��� ��������� �
�� ���7������ ��� �C���������4� ������2 ����������� ��� �I ��� ������7"�� ��� ��1�M �
=�� ��� �"�=�� ��� �;����� ��������� ��� ���� �3������ ��� �=�� � � �� ��� ���7 ����� ��� �
3������;�� ��� ��� ��E ��� ��������������� �82��� �������������2 ���� ����"�� �� �� ��� ��� �
C���������4� ���� �+� � � �� ��� ����� �3������ �������� ��� ���73������� �3��� ��� <
����� ��� ���� ������7������� ����7� ����� �3�� ���7������ ��� �������� �3�� ���7� <
��� ���� ��A����� ��73�;����Y: ������ ��

�� � 
�� ���7���� ��� ��� ���4� ��� �+�3 �5� ��� � � �M��� �C������� ��10M��� �	������� ��� ��1 ��� �C���� ��� �
�1I� ������ ���� �+� ����� �� �� ��� ���� �
 � � ���� ���� �� ��?����� ������ ����� ���� ��� �+� � �� � �� ��� ���� �����@��2 �
 �� � ��� �� � ����� ��� ��1 ��� �C���� ��� ��1I�: �
�� ���7���� ��� ��� ���4� ��� �+�3 �5� ��� � � �M��� �C������� �
�10M2�3�"������ ��� �9P+ ��6 ���M2��� ��� ��� �����"�� ��� ��10M:�D� ����A���� �N����� ��� 3� � �� �7���� �
��;���������� ��� ��� �7������2 �8� �=�� ��� �K���� ��� ��"���� �=�� ��� ��� ����� ��� ����3��@ � 7 ����� ��� ����3�� �
�� ��� �+ � � �� � �P
�� �� �����2 ��� �+� �� � � ��� ����;�� ������? ������ � �� ��C����� ��� ��� �+� � �� � ��� �������� �
�� ���� �7��7��2 ��� �C���������4� ����7���� �8������3������� �=�� ���� ��������� ��� ������ � ���� �+� � � �� ��� �
���;�� ���"�� ������ ���� �3������� ���C���� �� ��� ���8 �7������ ��� ���� � �+ � � �� �2����=�� ��� �+� � �� � �����3 <
��� ��� ��� ��������� �C���������4� �3��� �������� ��� ���� � �� �� ���7������ ��� ��� ����������� �3�� ���� �
����@�� ��E����C� � �� �=�� ��� �� ����� ��� ���� ��� ��� �3�A���� ����;�� ��� ���� ��� ��� ��� ���� ���� �� �
� ���� ���7����� ��� ����3��2 ��� �������� ���7� �������4�2 �� �" ���C� �� ��� 3����C�: �D� ��� ��"���� ���7"�K� �
�� ���� � �	�������2 ��� ��� �7��7� �� ��A����2 ��� ������7� ��� ���;��� �3��������� �3��� ��� ������7�����4� �
�� ��� �C���������4� ���73������ ��� ��� ����� ��� �=�� ��� �3����@�� ��� ��������� ��� ��7"�� �C�������������2 �
�� ���������H �+��+� � �� � ��� ����;�� ������? ������ � �� ��� �C���������4� �3��������� ��� ���� ���A����� �=�� �
������� �!����7���� �� ��� �3��3����� �� ���� �3������� ��� ���� �� �+�� ���� �� ���� ���������� ���� ������4��
��� ��� ��� ��� ��������2 ��� ��� �=�� ��� �������� ��C������� ������� ����������� �� ���� ������� ���� �+� � �� � �����3 <
��� �� �7���� �=�� ��� �K� ���������� ��� �� ��� ���� ���� �+ � � �� � ��� ����;��2 ���"����� ���������� ��� �+� � � �� �
���� 3��� ��� �������� ��C�������:
�� � 
�� ���7���� ��� ��� ��������4� ��� �� �0��� �C���� ��� ��110 ���� �	������� ������ ���� �+��� ��� �� �� ��� ���� �

 � � ���� ���� �� ��?����� ������ �8���� ������ �+� ����� �3� � ����3�� ��� ��� ��� ��� �� ����4� �3��� ��� �3�@����� ���� �
�� �+ � � �� � �� ��� ���� �����@�� �8��� �� ��� ����� ����������2 � �� �� ��� �9������� ��� ��1 ��� �C���� ��� ��11I2 �
3�"������ ��� �9P+ ��Y���02 ��� ��1 ��� �7�8� ��� ��110
�� � >� � 
F� �G�


��H ��� ������ ��� ����		
���� ��3: ����:2�3?;�: ��� �L�8���;:

�� �3��"��7� ����������2 �3��� ����;�������7���� �7�8 ����������2 ��� �3�� <
����� ������� ��� �"�=�� ��� �;����� �����"� �� ��� �3����� ��E����C��� ��� ��� �=�� �
�� ���7����2 �3�� ���� ����3 �� �� ����� �����7"�������2 ����4������ ���� ������ �
3!"���� �8�������� �7������ �=�� ����"�� �3�����"���� ��� �3�@��� ���� �3�"�� <
������ ������ �������� ���� �3������ �8�;�������� ������� ���3���� ������� ������ �

LIM
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�
	� � �� �� ���� �� �� ����� ����������� ���� ���� ��� ����

�������: �L ���� ����������� ���� �3������� ��� ��� �N
�>���� ��� ���� �+������ �������2 �
��8�� ��������� �������� ����������7���� ��� ���� �3������ ��� �����2 �9�������� �
� ����7� ��� �/������� ����? �3��;��� ��� �����������V � ��� �C���������4� �3���� ��� �
��� �������� ���7������ �3�� ������ ��� ������� ����? ��� ���� �3�"���4� ���� �"�=��: �+� �
3���"��� ��� �GP�a`�+a �	�/�PD2 ���;������ ��� ��������� ���?��7�2

�L � ��� ����������� ���� ���� �3�"�������� �������� �������� �3��������� �3�� ��� �7������A� ��� ������� ��� ���7� <
��� ���� �����7���" ���: �_���A2������ ������ �7�� �� �=�� � �� �3����� �� ��� � �� �����2 ���5�����7�� ��� �
���� ��� ���� �������� ��� ��� ��������� ��������� �=�� ��� �"������� ��� ������ �7������� ��� � ����"�� ��� ��� �
3����� ��� ��?3���� ��� ��0��B ��� ���� ������ �� ��� ���;���� �7�������� ���� �"�=�� ��7������� �6D�� � ��;�6 �
�� �� A� ��� �� ���� �� ��� ��0J�B ���� �7������� ��� ��� ����"��� �6�� �� 62���������� �3�� �������� ���7���� �
�� ��0JM2������������ ��� ����� � �4� ��� �	���� ��� �>� ����� ��� �������4� ��� �����73������� ���� �
��"���� �
�� �D��; 4�B��� ���� �7�������� ��� ���� �"�=��� ��� �;����� �6N�5���6 �8�6S��� �6 ��� �D�� ��� �8�� �87��� �
�� ��0M0�8��00�2 ���� 3��� ���7����2 �=�� ������� �C�@;���� �3�� ���� ����"��� ��� �������� ���� �3������� ��� �
���7����B ��;��� �������4 ��� ��� ����� ���� �7������� ���� �"�=�� �������7������� �6	 ���;�62 ���������� �
�� �N������ ��� ��0 ��� ��"��� ��� ��1�� �3�� ��������� �8�7�������� �� �3������� ��������: �	��: ��"A��72 �3?;�: �
�������:
�� � +��!���7� ��� ������2 ���� ������4� ��� ��� �����"� �� �� �� 7� ��� �/������� ��� ������ �"�=��� ��� ��� �P
�� �
�� �3����� ��� ��� ���"����:
�I � GP�a��+a �	�/�PD �8������H �	���� ��� ������ � �
������������ �� !" ����: �/�����2 ��1102�3?;�2 �
J���J�I:
�J � �� ����� ��4� �3������� �3���� ������ ��� ��4�� ���� 3����"�������� �3��� ���� �7��7"��� ��� ���� �
���3� ��� ����� �=�� ���7���� ���� ����3�A A��2 �� ��� �������� �3��� ��� �3��3�� ���7������� ���� �"�=��: �
��A2�3�� ��C�73��2 ��� ���8 �P�;?���� ��L� R� �10I2��� ��� �� � ��� ��� ���� �+� �� � � �T9P+�� Z���12 ��� ��� ��� �
�����7"�� ��� � � �10IU2��������� ��� �	4��;� ������ �/������2 ��� ��� ����A���� � � �LM����3��� �6+��7������ �=���
��� �7���� ��� �����@� �� ������� �7������2 ���7������� ��� �"�=�� ��� �;����� �� ��������� �7������2 �
=�� ��� �7��������� ��� ���"��� ����� �3���� ��� ���� �����@�� ��� �7����2 ��������� �� ���� ���"��������� �
����=���� ��"��� ��� ��� ������� �� ��E�����7� ��� ����� ��� ����������� �� ��� �3��������� ���� ��� �����;A� �
��������� �3��� ��73���� ��� ������� �7������2 ����? ���� ��;��� ���� ��� �3��� ��� ����� �7���� �8��� ��A� �� �
������ ��5�� ��� �3��� �4�6:

6:::��� �3������� ��� ���� �"�=��� ��� �;����� ��� ���������� ���7� �����@� ���7��� �
�� ����������� ��E����C��� �8�=�� ����? ���7�����2 �3�� ������2 �� ����� ���������: ��� �
� A �=�� ��� ���������� ������ ��4�� ����? ���������� �3��� �������� �� ������ �3������� �
� ������7�� ��� ���� � �� ��2 �3��� ��� �3��� ���������� ��� ���������2 �3��� ��� �
��73������� ��� ����� �3���� �������3���� �� ���� ������������ ���� �"�=�� ��� �
;����� ��� �=�� �3������@��� ����� �����@��6V I

��A2�3��� ��� ��������� ��� �=�� ��� ���� ���7������ ���� ���7���������2 ���� �3�"�� <
������ �� �������� ���� �����@�� ��� ������ �3!"���� ��� ���� �3�"�������� ��� ���� �
3������2 ������� ��������� �� ���;!� �7��7"�� ��� ���� ����3�����4� �=�� ������� �
�� ������ �3!"����2 ��� �=���� ����� ������������ ����� ���� �3���� ��� ���� � �� �� �� �
��� ������������ ���� �"�=�� �8�������� �=�� ������ ���7�� ���� �7������ ������������ �
��������� �������7� �� ��� ���8 �7������: �J

+� ������� �� ��� �C���������4� ������2 ���� ����3��������� ��� �"�=��� ��� �+����� ���� <
�7"������� ��� �3����� ��E����C���2 ��4�� ������� ���7������ ��� �C���������4� �
����� �3�� ���� � �� �� ���7������ ��� ��� ��C������� ��� ��� ����;�2 �3��� ��� ����3���� �
�� ���� � �� �� �=�� ���7� �3����������� ������@����:

LI0
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9�=��� �7��������2 ���;!� ��� ������3��4� �=�� ��� ������ ������ ��� �3�?����� ���� <
��������� ���3�5���2 ���� ���� ��������`�� ��� ������3���� �7��A��7� ���7������2 �
�� ���8� �?7"��� ��� ��� ������8�� ���� �"�=��� ����������� �� ��� ��������;���4� �
�����A���� ��� ���� �"�=��� ��� �3��3����4� ��������\ ��� ���7���4� �� �3����� ��� �
��� �"�=��� �7��������2 ��� �3�����3��2 ��� ���"� ���������� ���3������� ����"�� ��� �
�� �"�=�� �7������� ���73�� ���� ���� ���;��7����� ��� �3����A� �=�� ��� ����� �
�3����"���2 �M��0 �Q�Q������ ��� ��� ����� ��� ���� �"�=��� ����������� �� ��� ��������;���4� �
�����A���� �8���� ��� �3��3����4� ��������V 1

�M� 	������� ��� �L� ��� �7�8� ��� ��10L2��� ������3���� �7��A��7� ������ ��� �G�"����� ��� �+�3�5� �8��� �
G�"����� ��� ��� ����4� ��� ���3!"����� �D���������� �D���K�����2 � �� � ��� �/���! ��� �L� ��� �7�8� ��� �
�10L �8�3�"������ ��� �9P+ ��� ��1J2��� �� �M��� ��;���� ��� �� �10L:
�0 � +��3����� ��I ��� ������2 ��� ��������4� �G������ ��� ��� �/����� �/������� ��"��;4 ��� �"�=�� �6	�����62 �
�� �"������ �� �3�����2 �=�� ��� ����C��� ��� ���� ������� ���3�5���� �3�� �3�������� ���� � �"�=�� ���� ������� �
�� �L� �7����� ��� ��� ������ �� �������;��� ��� �;�������2 ��� ����� ���3��A� ��� ��E������ �����;� �3��� ��� �
��;������ ��� ��� �@���: ���� � ���=����7����� ��� ��� � �@������ ����3�K� ��� �������� ��� �������� �� ��� �
���3�����4�:
�1 � ���� �������� �� X�M11R0���� ������������ ��� �G�"����� ��� ��M��� ���"����2 ���"�� ��������;���4� �
�����A���� �7����� ��� �@���� ���7������ �� ��� �C���������4� ���3�5���2 �3�"������ ��� �9P+ �� Z����2 ��� �0�
�� �7�8� ��� ��10�:
L� � GP�a`�+a �	�/�PD2 ��:�:2 �8������H ���	�� ��� �
�	����� ��3: ����:2�3?;�: �J�L�J��:

D�"�� ��� �C���������4� �3���� ��3����"�� �� ���� ���A����� ���7������ �� �"���� ��� �
��� �"�=��� �7�������� ��� �3����� ��E����C���2 ���;!� �GP�a`�+a �	�/ <
�PDH

6:::����=����"��� ������ ��� ���73������� ���� �+����� ���"���5� �8��� ���73������� �
3������� ���� �3�"���4� ��� ���;�� ��� ��� ����7��� ���;�� ��� ��� ���
�� ��� ���� ���	�� ��� �
�����2 ��� �+����� ���� �3����� ����? ���73������ �3��� ���������� ���� ������������� �
3������ ���7������ �� �"���� ��� ��� �"�=�� ������� ������ ������ ����� ������3�� <
"��� ��� �������� ��� ������ �3!"���� �� �������� ������� ��� ���;������ ��� ���� �+��� <
��: ���� ��� ����������2 ���� ������������� �3������ ���7������ ��� ��� ��������� ���� �
"�=�� �=�� �������� ��E�������7���� ��� ������ �������� ��� �K���2 ����?� ���73� <
������ ���� �	�3��?�2 ��� ����� �3���? ���������� ��� ���E���� ��� ���� ������������ ���� �
3�����: �D���� ������ ��� ������ ���7������ �3�� ��� ����3�����4� ��� ������ �"�=��� �
�� �������2 ��� ���73������� ������������ �������3�����? �3�� ������� ��� �+����� �
��� �3�����6V �

+� ������2 �=�� �3��� ��� ������2 ��� �C���������4� �3���� ��3����"�� �� ���� ���A����� ��� <
7������ �� �"���� ��� �"�=��� �7�������� ����? ��� ���� �3�"���4�2 ������ �=�� ���� �
 �� �� �3�������7���� ����������� �������� ��� ������ �3!"���� ���� �+����� ��� �
���;��� ��� �3����� ���� �"�=�� ��2��� ��� ����� ��� �=�� ���73��7���� ��� ���3��?� �
�������� ��� ���E���� ��� ���� ���D�������� ��������:

LI1
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+� ������� �� ���� �c�A����� ���7������ �3�� ���� ����3��������� ��� �������2 ����?� ���7 <
3������� ��E������� ��� ���� ������������ ��������2 ������ ��� ��� ����� ��� �=�� ���� �
7��7�� �;���� ��� ���;!� ���3� ��� ���7������ �3�������:6 ^

(� � $����	�

��� ����
�
)� �����
 ���� ����
���� �
��
��	�� �� ����	� �	
 ��� �
����
 �
� ������
� �	
 ����� ����

��



��� ���3� ��� �"�=��� �T����� ��� �+����� ���7� �7��������U2 ������� ��� ������ � �
�� �3��� �c������� �� �����K� ���� �7�� ������������ ��� ��� �+����� ���"���5�: ���� �
����������� ���� �7��7� ������� ������7������ �3�� ��� �


�	���������� ��� ��� <
��� � ���� �/��2 L��L� ����=�� �� ���� �������� ��� ��� �C���������4� ��3����"�� � �"�? �=�� �
����������� ��� ��� ������ ��� �"�=��� ��� �+�����2 ��� ���8� ����� ��� �C���������4� �
��73������ �3��� �������� ��� ���� �c�A����� ���7������ �� �"���� ����? ��� ���� �3� <
"���4�2 �8��� ��� ����� ��� ���� �"�=��� �7��������2 ���7"�K� ����? ��� �C���������4� �
3����2 ���;������ ��� �3������� ���D
P� ��
���+�P2 �=���� �������;�� ����� � �34 <
�����H

L� � �� ��� ���������"�� �=�� ���;!� �3���C��� ������3������ �;��� ��� ���;!� ���3� ��� ���7������ �3������� �
�� ���� �3��������2 ������ ������2 �3�� ��� �	������� ��� �N���� ��� ��1J� �8��� ���������� ��� ���?����� � ���� �
�� ���;���4� �� ��� �=�� � �8� ����� ����������2 ��� ���8� ����� ��� ���;�� �;������ �C������������� ���������� �
������? ��� ������ ��� ��� ���7������ ��� ��� �3������ �������� ��� ���@4� ��� ��� ����;�:
L� � ����: � � �M�8���;:
LL� ��D
P� ��
���+�P2 ��: ��:H���	�� ��� �
�	���� �����	�
����
� �������� �� ��	�
���
������ �����	�
����
���� �

�����2 �M�������4�: �/�����2 ��1112�3?;: �LI�:

6�U�+����73�� �3��� �3�� ��� �7�� ������������2 ��� ���8� ����� ��� ��� ���"��A� ��C����� �
�� �C���������4� �3���� �3��� �������� �� ����;��� �3������ �� ������@�� ����;��� �
�������;���4� ��� �������4� ���� ��� ������� ���7����� �� �"���� �������� ��� �3���2 �
����� ��� �������� ���3������ �=�� ��� ���5���� ��E3����7���� �T���: ���:�UB ��U�3��� �
3�� ��� �7�� ������������ �3��������� ��� ��;��� �����������2 ��� ���8� ����� ��� �+��� <
�� ���"���5� �3���� ���7�� �������=����� �7������ �������@���� �3�� ���� ���8�� �
3��� �3������� �� ������������ �� ��������;������� �T���: ��M:�UB�LU������� ���7� <
���� ������ ��� �=�� ��� �"�=�� � �8� �������� ��� ��� �7�� ������������2 ��� �3������ ��� �
�� �3����� ��E����C��� �8��� �3������ ��� ��;��� �����������2 ��� ���8� ����� ��� �
+����� ���"���5� ��� �3���� ��� �3�����3�� ������@�� ������������ ��� �����;������ �
T���: ��M:IU6:LL

�� ��� ������������4� � �� � �3�� ��� �3������� ���D
P�2 ��� �3��7��� ��� ������2 ��� �
�����2 ���� �������� ���7������ �� �"���� ���� �"�=�� ��� �3��� �c�������2 ���� ������� �
�� �+����� ���"���5� �3���A� ��������2 �������7� �� ���� �3���������� ���� ����: ���� �
�� ��� �


�	����������2 ������ ������ ����?� ��������� ��� ��� �3������� ��������:

+� ��� ��������� �� ��� �C���������4� ������ �3�� �3���� ��� ���� �"�=��� �7�������� �=�� �
�C��@�� ��� ������ � ��� �3��� ���������2 ��� �


�	���������� � �"�� ��� �=�� �6�� �
+����� ���"���5� ��� ���"��A� �������� ��� �������� �"�=��� ��E����C���� �=�� �3� <
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 	� ��� �� ���� �S � ����� ����������� ���� ���� ��� ����

��� �3�� ��� �7�� ������������ �3��� ��C����� ��� �C���������4� ������ ���"�� ���� �3���� <
��� �=�� ��� ����������� �� �"����2 ����=�� ��� ��� �3�� A"� ��E3����7���� ���7 <
3��� ����;� ��� �3�� �"������ ��� �=�� ��� ����3��� �7������ ��� ��C�����4� �� �
���������� ���"�� ���� �� �"�=���2 ������ �=�� �������� ��� ���� 3����"�������� �
������� �3������� ��� ��� ��� �3��� �� ��� ������ ��� ���� ��;�� �:6L�

+� ��� ����� ���3�5��2 ��� �3��� �3�� ��� �7�� ������������ ��� �"�=��� ��� �;����� ��E <
����C���� ����? ���;����� ��� ��� �3�������� �P���� �/���������� ��I R�10I:L I ����� �
�� ��C������� ��� ��� ���=����� ��� ����@���4� ���3����� �3��� ����@�� ��� �7�� �������� <
���� ��� 3�5��2 ����=�� ���� �"�=��� ���"�� ���73��� ���� ���� ���=������� ���� �3��� �
��������2 ��� �������� ���� ���� ����7�� ���� ������ � ��������������: �/������� �
�� ����������� ��� ��� �7�� ������������ ���3�5�� ���"��? ��� ������ ��� �3�"���4� ��� �
�� �����4� ��� ����7� �����"�� �8��� �3���? ����������2 ������� ��7"����������2 �
3���� ��� ������ ����������2 ��������� �7����" � ��2 ��C�������� ��� ���������� �� �
��������� ��� �����=���� ������2 ��� ������@�� ����"�C�� � ����;�?����� �� ����?�����: �
��� ���"7������ �����;��?� ��� ���3�������2 �7�� ������ �3�"���4�: ����� �3���� �
�����@�� ���;!� ��C������� �� ��3�����4� ������ ���� �3��3�� �3���2 ����? �3������ ��" <
����� ��� �������3�������� ��� ����@���4� �3����� ���� �G�"����� ���3�5��2 �� �� ��� <
���� �3�� ��A� ���3��7? ����:

*� � �� �+���
��� �	
� ������
� �	
 ����� �
� ���,�����

���� �=�� ���� �=���� �"�=�� �3���� ��C����� ��� ������ � ��� �3��� ��� ���?�����2 ��� �
�����2 ��=��� �=�� ��� ������@� �3�� ��� ���� �� ������@���� �3��� ��� �����;���4� ��� <
�����������2 ��� �������� ���� ��� �


�	����������LJ2 ��� ��� �3���K ����;!� ���<
3����� ���3����� �� ���� �������� ��� �C���������4� ���� ����� ���� �"�=�� �� ���������:

	�7� ��� ��� " ���2 ����� �� ����7� ��������� ��� �3��� �3�� ���;���� ��� ���� �� �
������������ ��� ����3���� ��� ��� �


�	���������� �8�3��� ���73����� ���� ������� <
��� �;���� ����K;���� ��� ���;���� �3����� ��� �=�� ���;��"�� ���A �3���� ����@�� �
������ �� ������������� ��� ��� ����7� �7���� ���� �������� �=�� ��� ��K;�7�� ��� �
3��� ���������2 ���7� ���A ������� ���� ��� ��� �G�"������ �8�=�� �����4 ��� �� �� �� ��� �
+�3 �5� �� ��� ���;����� �������� ��� ����7�� ��� �


�	���������� ��� �/����;� �9�82�
���=�� �3��������7���� ����"��� �3��� ��� ���� ��� ���3�������� ��� �������3�� <
������ �������7���� ��� ��� ���4�: ������ ���������2 ��� �3���� ��� ��"������� �
C���������4� ���;��� ���"�� ���� ���A����� ���7������ �� �"���� ��� ���� �"�=��� �=�� �
�C��@�� ��� �� ������ � ��� �3���:

+��3��� � � ��� ���� �3���������2 �3�� ����� ���3� ��� �"�=��� �8����������2 ��� �
������� ���� ��� ����: �L1:� ��� ��� �


�	����������2 ���� ���7���2 �8��� ��"������?�

L� � ���: ��0 ��� ��� �


�	���������� ��� ������ � ���� �/��:
LI � ����: ��� �8��� ��� ��� �P/ ��IR�10I:
LJ� 
"A��72 �����: �LM�8���;: �

LJ�
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	� ��� �� �������� ����� ����������� ���� ����� �� ����

�� ����� ��7���@� �� ���� ��� ��� �����@� ������� ��� ���"����A�2 ��� �����;����� �� ��� �
����3�������� �3��A���� ��� ���� �+����� ���"���5�� ���� ������� � �8���73���?� �
��� ���;��7�����2 �3������7������ �8�3�?������ ���������������� ��� ���;������ �
�� ��� �7�� �;������7���� ����3�����2 �������� ��� ���;��7���� �������������� �
3��� �3������� ��"����C��2 �3�������4� ��� ��� ������7�����4�2 ����: ��������7���� �
�� ��� �3�?����� ��������� ��� �3������4 ��� �3��"��7� ���"�� ��� �������4� ���� ����� <
� � ��� �3��� ��� ���?�����2 ������� ���������� �������7�������� ����3��;���� �
�� �G��� �9����5� ���������2 ���� �3����� ������2 ���������� �3����� ���� ����������� �
��"�� ��� ��"��� ��� ��10J: �+����������� ����� ���@� �"A� ����;��� ������� �"�=��� �
�� ��� �N
������ �������7������� ��� � �"A�� ������������ ��� ��� �G���� ��� �D���� �
3��� ������@�� �7����"��� �7��������: �+��� �;���� ��� ������������� �3�� ���"�� ���7� �
"� A� � ���4����2 ���� ��3�����4� ��� ���� �+������ �;��;�?����7���� �3�4E�7�� �
�E��3�� ��� ���� �+������ ������� ��� ��7K����: ���� ��� ���� ��A�� ��� ���� �7���� <
"���2 ���� �������� ���"��� ���"��������� ��� �"�=�� �������7�������2 ��� ����� �
��� ������3������ ���7� ��� ����� ��� �;����� �8���� �7��7� ���� � ������� �"�7 <
"�������� ������� ��������� ���"���2 ���� ��� ���������� � �"����� ��� �7�� �� ����� <
��� �7������2 ������8���� ���� � �C����� �3��3�� �	������ �G�����: ��� �������4� ��� �
��� �"����A �3��� ��� ��������� �;�"����� ����������� ���3�5��2 �8� �=�� ���� �������� �
=�� ������@���� ��� ����=�� �� �"��� � �"A�� ����� ���3������� �3�� �������� ��� �
�"������7����� �����"������� ��� �a���;�@� �8� �"�A�� ����@��� �7?� �� �7���� �
� ��� ������� ��� ���� �������2 �3�� ��� ���3���� ��K��� ���3�5�� �T3��� ��� ����� ���� �
����������� �������7�������� ���������"�� ��� �������@���4� �3����� ���3�5� <
��U2�� �"��� ��� �7��������"� �=�� ���� �������� � �"A�� ����@��� �3�� ��� ������� � �
�� �G�"������2 ��3��4� �=�� ��������� �3�����4 �7?� ��3������ �3��� ��������� �
;�"��������::: �8��� �3���2 ����7?� ��� �"�7"������ �
�A3���2�����7���7�� ��� �
3��A���� ��E������ ���3�5��� ���"�� ��� ������� � ��� �G�"������: ��� ������� ��� �=�� �
��� �������� ����@���� ��� ����������� ������������ ���3�5�� �T3��=�� �"������ ��� �
3��A����� ��� ��� ������ �6����������� ������ ��������6U �� �"��� ����@���� ���� ��� <
����@���4� �3����� �8�+�3�5� ��� �7���4 ���� �����@�� ��K���� �3��� ��������3��� �� �
��� ������ ����������2 �� �"���2 ���;��7�� ����8���� ��� ������4� �������� ���� �3��� �
��"�� ��� ������� � ��� �G�"������2 �3�� ��� �=�� ������ ��������� ��� � �"A� ��"��? <
����� �3��� �=�� ���;��K��7�� �7���������� ���� �3������ ���;�� ���"�� ����� �
@��� ��� �+�3�5� �����"����� ��� � � �M�J2��� ������ ��� � �7�� ������� ���� ���3�5� <
��� ������ �=�� �	�������� ������ �/������� ��� �������� �+E�������� �8�������� ��� �
���C� ��� ���73��7����� ���� �
������ ��� ������ :

-� � �� ������
� �	
 ����� ���� ��� �.��� ��
�����
� ��!
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	����� ��� ��"���� ��� �������� ���� ��K;�7�� ��� �3��� ��� ���� �"�=��� ��E����C���� �
��"�� ��� �@��� �����47��� ��E�������2 ��� ������ ��� ����������� ��� �3������� �
	���+�+�P2 �=���� ��������� �� ��� � ��� ��� �����"����� ��� ��K;�7�� ��� �3��� ��� �
"�=��� ��E����C���� �3�� ��� �@��� �����47��� ��E������� �Ta++U��� ����� �+����� �
=��H
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6+� �������������2 ���� ���������7�� ����� ��� ��K;�7�� ��� �3��� �3�� ��� �a++ �
=��2 �� �3���� ��� ��� ����������� ��� ����A���� �0M���������� ��� ��� ����A���� �I02��� �
���;� ���� ���C�� ��� ������� �� ���� �3���"�������� �8������������ ��� ����3��@�7��� <
�� ��� ���� �"�=��� ���7� ��� ��K;�7�� ��� ���"����� ��� �����;���4� �=�� ��� ��3���� �
�� ��� ����� �7��2 �8� �=�� �3���� ���� ���7����� �3�� ��� �+����� ���"���5� �� ���� �
������������� ����������� �3��� �;������@�� ��� ��C������� �3���� ��� ���� ������ ��6\

��� �����2 ��� �+����� ���"���5� ��� ��� �a++ �3���� �3����;���� �7������� ��� ���;�� <
7������4� �=�� ��� ������� ������ �8������� �� ���"� �7������ �=�� ���������� ��3�� <
����� �3��� ������ ��� ���73��7�����2 �7������� �=�� ���� ��������� �+������2 ���� <
���!� ��������� �	���+�+�PH

6:::��"�� ����3���� ����� ���8�� �8���;��7����� ����8� ��3������4� �3���� �������� �
� ��� �����;���4� ��� ���� �"�=��� ��E����C����2 ���"�� ����� �3��=�����2 ����=�� �
�� ���� �K�� ��� ��"C������ ��� ��� �7����� ��� �=�� ��� ����� ���73���"��� ���� ��� �
����� �N:::�D�� ��7"��;�2 ����;��� ����3�����4� �3��7��� ��E3����7���� ��� �+��� <
�� ���"���5� ���;���� ��� ����7� �������� ��� ���?����� ��� ���� �"�=��� ��E����C���� �
3�� ��� �a++: ���� �����2 �!����7���� �7������� ���� �7������ �=�� ����? �������@� <
�� �� ���7�� ���� ��� ��"C��� ��� �3����;�� �� ��C����� ���� ������ ��2 �8�7�8 ���3� <
����7���� ���� ���������� �� ��� �����������4� �8��E3������4� ��� ���� ��������� ��� <
���2 �3���? �������� ��� ��� �3��� �� �����K� ��� �����2 ����=�� ����������7���� �8��4�� �
�� ������� �=�� ���� ������ �� �=�� ��� �3��3��� ������;������ �� �=��� ���� ��� �
��"����� ��� �����;���4�: �+� ����� �����2 ��� ����3��4� ��� ������ ����7�� � � ��� �
 ������ ��� �������7���� ���� ��� �	�������4�2 ��� ����7� �=�� ��� �3����� ����� <
��� ��� ���� ���"������� ��� ���� ��������� �+������ �7?� ����? ��� ��� �3��7����� �3�� ��� �
C��;� ��� ��=����"���� ������ ���� ���������� ��� ���� ���������� �3����� �����"������ �
�� ��� ������ �N:�+� ������ �3���"���2 ��� �+����� ���"���5� ��� �3���� ��73���� �
��C����������7���� ��� ��������� ��� ���� �� ���"�������2 ������ ������ ��� ��� ����� <
;���4�2 �7������� ���� ���8�� �8���;��7����� �=�� ����3�� �3��� �3����;�� ���� �
����� �� ���"�� ��� �a++6V0

LM� 	���+�+�P �	�D

���2 ��:H�6+���K;�7�� �C��A���� ��� ��� �����;���4� �3�� ��� �@��� �����47��� �
�E�������Y: �D������� ��� �3�"���������� ��� ��� �>������� ��� ������ � ��� ��� ������������ �	�73������� �
�� �/�����2 ��1112�3?;: �I�:
L0� 
"���72 �I0�I1:

�� ��� �����"���� ���A ����;!� ������7� ���3����� ��� �C���������4� �3�� ��� �7��� �
3��� �3�� ��� �a++ ��� ����� �+�����2 �3�� ��� �=��2 ��� ��;��� �=�� ��� ��� ����� ���� ����� �
7�� �T����� ��� ���� ������ �=�� ��� ��������� �� �����������4�U2 ��� �C���������4� ���� �
3�"���4� ���� �"�=�� ��� ��� �!���� ���73������:

��� ���3������ �� ���� �=�� ��� ������ ���7� ��E��3��4� �� ��� �C���������4� ��E������� �
��� �"�=�� �7������� ��� ����� �7�� ������� ������7������ �3�� ��� �


�	������� <
��� ��� ������ � ���� �/��8 ����2 ����7?� ���� ������ � ��� ����3����4� �T�� ����� <
=���� �"�=�� ��� �+����� ���"�� ����� �7�������2 ���������� �� ��� ���� �3�"����� �LM�L0�
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